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B = B 44 R % FHTHE20%
GER SEIENBEREL L2 —
AT 1% 1% 1% 1% ik ik 1% 9B54T5)
8BF00%>  [BE%30%  |9B%00%>  (9B$30%>  |10BF00%> |10B%30% |(REXE)
EFE2|BHERE (BHIE)
1 =B Ak 100 1,600 1,700 1,794 1,802. 539
2 f==f- —H 100 1,300 1,400 1,495 1,495,000
3| eSS ALH 100 1,200 1,200 1,253 1, 253.000
4 5l f=20F 100 900 1,000 1,001 1,001. 000
5| HoFEFE Hif 100 400 400 485 485. 000
6 FAD R= 100 700 800 851 851. 000
7 g 0AC 100 1,100 1,100 1,175 1,175.000
8 2%y BF 100 1,000 1,000 1,069 1, 069. 000
9| BHHA LLRE 100 900 900 971 971.000
10| BH2O2H EHE 100 1,100 1,100 1,130 1,130. 000
11 Ml wp=EC 100 700 700 752 752. 000
12| Il £FIHE 100 800 800 856 856. 000
13 Nk HTH 100 1,100 1,100 1,170 1,170. 000
M IBHALCvALESS 100 800 1,000 1,052 1,052. 000
15| HDOTH EE 100 700 800 881 881.000
16| BiD VALK 100 600 600 693 693. 000
17| E8 EHHE 100 1,100 1,300 1,340 1, 340. 000
18| ShEhHh IEX 100 900 900 943 943. 000
9| &8 LIFOC 100 1,200 1,300 1,359 1, 359. 000
20| REXHITAH 100 1,200 1,500 1,575 1,575. 000
21 LAY il 100 1,500 1,500 1,597 1,597.000
22 FA71- HIE 100 800 900 934 934. 000
23 Fith UV TE 100 700 700 727 730. 460
24 fBRK UAL 100 700 700 738 738. 000
25 BhHhaon =& 100 1, 600 1,800 1,820 1, 820. 000
BEBRHY (B 2,500 24,600[ 26,200 27,661 0 0| 27,672.999
BAEES KT (%) 8.91 87. 63 93.33 98. 54 0. 00 0.00 100. 00
BEBRK (Z) |27, 672.999| (A)
BAUETER (Z) 0.001| (B)
BENREHR (=) 27, 673[(C) = (A)+(B)
ENRE (Z) 399( (D)
BERH (Z) 28, 072| (E) = (C)+ (D)
ITZHE BELRYE (B) o[ (F)
BEERK (N) 28, 072[ (@) = (B)+(F)
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